You will recognise these success criteria from our Maths No Problem books. Use this as a step-by-step guide if you are finding dividing a 2 digit number by a 1 digit number tricky.
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In Focus

She packs them equally Into 4 boxes.
How many ice creams are there In each box?

To find the number of ice creams In each box, divide 52 by 4.

52:4= 1

Step1  Split 52 into 40 and 12.

A shopkeeper has 52 ice creams. )
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Step3  Regroup 1 ten Into 10 ones.
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Step 4  Divide the ones by 4.

oo 12 ones = 4 =3 ones

Step5  Add the results.
52:4=10+3=13

There are 13 ice creams In each box.




